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Financial Management: Financial Management is concerned with anticipation,
acquisitionandallocationoffunds.Itinvolvesmanagerialactivitiesconcernedwiththe
procurementand utilization offundsforbusinesspurpose.Therearemainlytwo
functions;Financingandbudgeting.

Finance:Inourpresent-dayeconomy,"finance"isdefinedastheprovisionofmoneyat
thetimewhenitisrequired.Everyenterprise,whetherbig,medium ofsmall,needs
financetocarryonitsoperationsandtoachieveitstargets.Financeissoindispensable
todaythatitisthelifebloodofanenterprise.Withoutadequatefinance,noenterprise
canpossiblyaccomplishitsobjectives."finance"isthelifebloodandthenervous
system ofanybusinessorganization.Justascirculationofblood,isnecessaryinthe
humanbodytomaintainlife.Financeisnecessaryinthebusinessorg.forsmooth
runningofthebusiness.

Sourcesoffinance/capitalformation/capitalaccumulation:

a)Creationofsavings:Individualsorgroupsintendtocreatesavingsbydeveloping
andmaintainingpowerandwilltosave.

b)Mobilization ofsavings:Saved amountmustbe mobilized and transferred to
entrepreneurs/businessmenforappropriateinvestment.

c)Investmentofsavings in realcapital:Preference mustbe assured forthe
investmentinindustrialsector.

d)Foreigninvestment:Itcomprisesfollowings

i.DirectForeigninvestment.
ii.Loanorgrantfrom foreignnations.
iii.Loanfrom internationalfundingagenciesi.eIMF,WorldBank.

e)Taxes.Itisonethemostimportantsourceofpublicfinance.

f)Prices.Increasepriceofcertainproductsbringrevenue.

g)Rates.Itisalsoasourceoffund

h)Finesandpenalties:Alsoconsideredassourcesoffund.

Valuation:Itiscentralissueoffinance.

TimeValueofMoney:TimeValueofMoney(TVM)isanimportantconceptinfinancial
management.Itcanbeusedtocompareinvestmentalternativesandtosolveproblems
involvingloans,mortgages,leases,savings,andannuities.TVM isbasedontheconcept
thatadollarthatyouhavetodayisworthmorethanthepromiseorexpectationthatyou
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willreceiveadollarinthefuture.Moneythatyouholdtodayisworthmorebecauseyou
caninvestitandearninterest.Afterall,youshouldreceivesomecompensationfor
foregoingspending.Forinstance,youcaninvestyourdollarforoneyearata6%annual
interestrateandaccumulate$1.06attheendoftheyear.Youcansaythatthefuture
valueofthedollaris$1.06givena6%interestrateandaone-yearperiod.Itfollowsthat
thepresentvalueofthe$1.06youexpecttoreceiveinoneyearisonly$1.A key
conceptofTVM isthatasinglesum ofmoneyoraseriesofequal,evenly-spaced
paymentsorreceiptspromisedinthefuturecanbeconvertedtoanequivalentvalue
today.Conversely,youcandeterminethevaluetowhichasinglesum oraseriesof
futurepaymentswillgrowtoatsomefuturedate.Youcancalculatethefifthvalueifyou
aregivenanyfourof:InterestRate,NumberofPeriods,Payments,PresentValue,and
FutureValue.

Presentvalueofafuturesum:Presentvalueisthecurrentvalueofpaymentthatwillbe
receivedinfuture.Whilediscountingistheprocessofdeterminingthepresentvalue
from knownfuturepayment.

PV=FV/(1+i)
n

Where

PV=Presentvalueofdollar
FV=Futurevalueofdollar
i=Interestratepertimeperiod
n=numberoftimeperiod

Forexample,ifyoucangobackwardstoo.Ifsomeonewillgiveyou$1000in5years.
Howmuchmoneyshouldyougivemenowtomakeitfairtome?Youthinkagood
interestratewouldbe6%(Youjustmadethatnumberup).(i=.06)

FV=PV(1+i)
N

$1000=PV(1+.06)
5

$1000=PV(1.338)
$1000 / 1.338 = PV
$747.38=PV

Presentvalueisanamounttodaythatisequivalenttoafuturepayment,orseriesof
payments,thathasbeendiscountedbyanappropriateinterestrate.Thefutureamount
canbeasinglesum thatwillbereceivedattheendofthelastperiod,asaseriesof
equally-spacedpayments(anannuity),orboth.Sincemoneyhastimevalue,thepresent
valueofapromisedfutureamountisworthlessthelongeryouhavetowaittoreceiveit.

Futurevalueofapresentsum:Futurevalueisanyamountofmoney,willbeworthifit
earnsinterestforaspecificperiodoftime.Compoundingistheprocessofdetermining
thefuturevaluefrom theknownpresentvalueorprincipal.
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FV=PV(1+i)
n

Where

FV=Futurevalueofdollar
PV=Principalorpresentvalueofdollar
i=Interestratepertimeperiod
n=numberoftimeperiod

Forexample,ifsomeonegiveyou100dollars.Youtakeittothebank.Theywillgiveyou
10%interestperyearfor2year.
So,thePresentValue=$100.WhiletheFutureValue=$121.

Futurevalueistheamountofmoneythataninvestmentwithafixed,compounded
interestratewillgrow tobysomefuturedate.Theinvestmentcanbeasinglesum
depositedatthebeginningofthefirstperiod,aseriesofequally-spacedpayments(an
annuity),orboth.Sincemoneyhastimevalue,wenaturallyexpectthefuturevaluetobe
greaterthanthepresentvalue.Thedifferencebetweenthetwodependsonthenumber
ofcompoundingperiodsinvolvedandthegoinginterestrate.

Interest:Itisachargeforborrowingmoney,usuallystatedasapercentageofthe
amountborrowedoveraspecificperiodoftime.Simpleinterestiscomputedonlyon
theoriginalamountborrowed.Itisthereturnonthatprincipalforonetimeperiod.In
contrast,compoundinterestiscalculatedeachperiodontheoriginalamountborrowed
plusallunpaidinterestaccumulatedtodate.Compoundinterestisalwaysassumedin
TVM problems.

AnalysisofFinancialStatements:Financialstatementconsistsofbalancesheet,
incomestatement,fundflowetc.

A)BalanceSheet:Itisfirm recordedlistofassets,liabilitiesandowner’sequityina
reportingdate.

Assets=Liabilities+Owner’sEquity

B)IncomeStatement:Itisfirm recordedearningsandexpensesinaspecificperiodof
time.

C)FundFlow:Analysisofsourcesandapplicationoffunds.

D)BreakEvenPoint:Apointinthelevelofproduction,whenthereisnoprofitorloss.

E)RatioAnalysis:Ratioanalysisismeasurementofproportionbetweentwoormore
figuresinthefinancialstatement.
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CurrentRatio=Currentassets/currentliabilities

F)BenefitCostAnalysis(B/CRatio):Analysisusedtocomparebenefitswithcost.

B/C=1impliesthatbusinessismarginaloritsimplycoversthecostofproduction
B/C<1impliesthatbusinessisnotworthwhile,notfeasible,notworkableandnot

economicaltocontinueproduction
B/C >1impliesthatbusinessisworthwhile,feasible,workableoreconomicalto

continueproduction.

InternalRateofReturn(IRR):Thatrateofdiscountingfuturewhichequatesinitialcost
withsum offuturediscountednetbenefits.

Itisametricusedincapitalbudgeting,measuringtheprofitabilityofpotential
investment.IRRisadiscountratethatmakestheNPVofallcashflowsfrom a
particularprojectequalstozero.

NPV=

T

∑
t=1

-
C

t

(1+r)t C
0

Where,
Ct=Netcashinflowduring“t”timeperiod
C0=Totalinitialinvestmentcost
r=Discountrate
t=Numberoftimeperiods

TocalculateIRR,set
NPV=0

Andsolvefordiscountrate(r)
Ifrincreases,itmeansthatmoredesirabletoundertakeproject
IRRsometimesreferredasEconomicRateofReturn(ERR)

NetPresentValue(NPV):Thedifferencebetweencashinflowsandcashoutflowsis
calledasnetpresentvalue

WhenCashinflow–Cashoutflow=NPVi.e.

$4000-$1000=$3000(NPV)


